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HEG)  —20 LA/ N 150217 8, 450 8,400 | A 0.
HEC)  —21 HBEHT =#01271%13 16, 800 16, 800 0.
HE)  —22 TABEET —H#01729% 1 9,100 9, 000 1.
HEC)  —23 RALBTE B 75 I 4005 18, 300 18, 200 0.
HEC) —24 RALHTHF SR BN 1112592 11 26, 200 26, 100 0.
HEG) —25 21| BTEF39137% 25, 700 25, 700 0.
HEC)  —26 )1 W] bR 117302 2 22,000 22, 000 0.
HE) —27 2 I BT R T 15557563 24, 200 24, 200 0.
HEUD) 5—1 BREET 2 TH 1381 67, 100 67,100 0.
HEM) 5 -2 JERERT 10557 1 75, 000 75, 000 0.
HZ2 () 5 — 3 iéﬁ“_ﬁﬁ?ﬁ 3 T A0S TiahAl3 — A4, 400 13,900 | A 1.
HEM) 5 —4 S T 1122489 2 A4 34, 400 33,600 | A 2.
HEU) 5—-5 1 T BB R 1586 7 34 8, 350 8,100 | A 3.
HMEUR) 56 ZAEHT 2158762521 14, 800 14,600 | A 1.
HEU) 5 -7 R ET X 12139 2 29, 900 29,500 | A 1.
HEJR) 5—8 RALHETHF S5 FRESR 11113642 115+ 54, 700 54,500 | A 0.
HEG) 5—9 )1 HTET4831% 2 31, 400 31,300 | A 0.
HEJR) 5—10 21| BTE 38497 28, 600 28, 600 0.
HER) 5 —11 REFAE 2 TH4%E 35 45, 500 45, 500 0.




AN S HATG A

O B | BERORER B DI R | 5 | 8 R |
HEM) 9 —1 RUEAT516% 9 44 7,250 7,250 0.
HE) 9—2 Wity BT 52—/ BDATTHS1 14, 300 14,100 | A 1.
HEJR) 9—3 A% T 1 HE£908% 1 7,300 7,200 | A 1.
HEU) 9—4 HHEHT 5 % 1 4% 16, 900 16, 900 0.
HMEU) 9—5 I BTHEFR 31673 8 4F 9, 650 9,600 | A 0.
WEUY —1 AT L ERT A 333% 5 38, 400 37,200 | A 3.
HHO) —2 T 6287526 [ HET35— 25 27, 300 26,500 | A 2.
WEGYH —3 ﬁjﬂ% LT HAL009% Tl —28— 32, 200 31,100 | A 3.
w0 —4 TAIBHT 7057822 25, 800 25,000 | A 3.
WHUY —5 JBF-HT A 683%80 [ZHF-HT54—10) 24, 500 24,000 | A 2.
wHEOL) —6 Hd HETE17% 1 4h 29, 100 28,000 | A 3.
fmm R —7 FAHCHTIIAA 218% 2 6, 000 5,900 | A 1.
mE(R) —8 SEHBATALEE89% 1 6, 000 5,900 | A 1.
mm k) —9 FHTHTFHE) 1 =2 6887 4 4,100 4,000 | A 2.
e (L) —10 VE LI A 402 1 4% 1, 850 1,800 | A 2.
fmm (R —11 VC RLETIE) I A 262 1, 650 1,600 | A 3.
AE ) 5 —1 & T 1T DT 15726 54, 200 53,500 | A 1.
i () 5 —2 FHBHTHL 18007 4 4+ 8, 400 8,300 | A I.
AH () 5—3 P FLETIC . 12687 6 5,500 5,400 | A 1.
H(R) 5 —4 AN A618% 1 [ZHT-HT42—12) 34, 600 34,400 | A 0.
WO 9 — 1 i%7TE411287§133 [T 12 23, 600 23,000 | A 2.
KREOR) —1 R H TR TR AR/ Rl 2763 3 30, 300 29,700 | A 2.
KEUR) —2 KEBTKEAFF /I 818% 4 20, 700 20,000 | A 3.
KE(R) —3 R HET R H R BT 2823 22,700 22,300 | A 1.
KRE(R) —4 RAMT RS & 1 333% 18 23, 300 23,100 | A 0.
KHE(R) —5 RHEET R E IR e 1112% 7 44 26, 300 26,000 | A 1.
KE(F) —6 R BT 5[]/ 5l v 3283 4 21,100 20,400 | A 3.
KER) —7 TRAR R/ NETRE ) AR A 117511 18, 200 17,700 | A 2.
KE () —8 (- BEET{= 5 5T T 15083 15,100 14,900 | A 1.
KEUR) —9 {ZERTES Bt/ 15173620 8, 500 8,400 | A 1.
KHE () 5—1 R BT R FH 2 e 9408 8 41 35,200 34,300 | A 2.




AN S HATG A

O B | BERORER B DI R | 5 | 8 R |
KHE () 5—2 BRI 5 55431 %40 18, 500 18,100 | A 2.2
KHE(F) 5—3 RAMTRAT TR A 548% 3 34, 000 33,200 | A 2.4
KHE ) 9—1 S HMT Sik413%15 5, 050 5,000 | A 1.0
zk () —1 LR T S BT 4 1 R 1748 % 1 26, 800 26,200 | A 2.2
k() —2 RS HET A 1717533 23, 700 23,200 | A 2.1
zHk () —3 [EPNORSTNRYE:S 17, 600 17,300 | A 1.7
k() —4 AT ERTIE D 3327 20, 900 20,500 | A 1.9
zHk () —5 BT I 953 7,500 7,400 | A 1.3
wk(F) —6 JRVEHT 5622 3 16, 600 16,200 | A 2.4
wk () —7 JEHEET AR 16678 5 8,100 8,000 | A 1.2
wk(F) —8 A AR %2 H 12509 9 13, 200 13,000 | A 1.5
zZHk () —9 AT o) 1754912 7 16, 600 16,400 | A 1.2
Rk (F)  —10 e ORI 537 FH 5475 13 18, 400 18,200 | A 1.1
2k (JL) 5 —1 2R FIRE 11828 1744 37,800 36,500 | A 3.4
LR (B) 9 —1 BThEET114713 14, 700 14, 700 0.0
) —1 TLEE AR 1 RT 12182 17, 300 17,000 | A 1.7
) —2 BHTHTAMEAR 1971 7 10, 100 10,000 | A 1.0
(R —3 I 70T A 1255845 16, 700 16,300 | A 2.4
TEE(R) —4 FGERT A 1322718 23, 500 22,900 | A 2.6
LE(R) —5 HR AT 23323 2 24, 900 24,800 | A 0.4
TEE(R) —6 TRFIMT353 %20 14, 800 14,600 | A 1.4
(R —7 BT A 143 1 5+ 13, 000 12,800 | A 1.5
T (R) 5 — 1 A ERT23067%24 47, 500 46,300 | A 2.5
TE(R) 9 — 1 HIEFEENT 2307 194+ 8, 300 8,200 | A 1.2
EEU) -1 L T R R 1090 6 18, 800 18, 800 0.0
Er(R) —2 AT AR279% 6 4,750 4, 600 3.2
EEU) -3 K BT S 3872 7,500 7,450 0.7
Er(R) —4 SRR F110112% 1 20, 100 20, 100 0.0
EEU) —5 TNTSEHT A 110% 3 13, 000 12, 900 0.8
Er(R) —6 AR 527719 6, 750 6, 700 0.7
EEU) -7 ARUETHT 14413 20, 800 20, 500 1.4




AN S HATG A

O B | BERORER B DI R | 5 | 8 R |
T () —8 ARYHTTE B %$16473 11 13, 200 13,000 | A 1.5
EEU) —9 ARIRHT FREAR 12107 1 28,900 28, 900 0.0
L () —10 = JJEIT#5 T858% 5 4+ 14, 000 14, 000 0.0
EZr (R —11 | BEAETEE2190% 1 9, 900 9, 800 1.0
L (/) —12 =JJRET =J) 29567 3 18, 000 17, 800 L1
EFUR) —13 | ZTIRET=TJ]E1230%58 22, 000 22, 000 0.0
L () —14 & H AT HEAT2704% 7 6, 600 6,500 | A 1.5
Er(R) —15 | FHITRBERIFS0E 2,700 2, 700 0.0
L () 5—1 ARRET AR RA68% 6 26, 100 26,000 | A 0.4
ERH(R) 5—2 = JRHT =) R 35% 2 4} 37, 000 37, 000 0.0
L (J) 5—3 HARTEMA21507%66 11, 400 11,200 | A 1.8
EREOR) 91 RVRHET L 710932 1044} 18, 400 18,100 | A 1.6
BHZEGL)  — 1 |[CZAPRHZERT FR{E 3453 1 11, 000 10,900 | A 0.9
BHEGL) —2 | Zpk710%&4 17, 600 17,400 | A 1.1
BRHER) —3 |Ak1556%F 8, 150 8,100 | A 0.6
WHEG) —4  |(BEHE6E84% 14+ 14, 700 14,500 | A 1.4
BHEGR) —5 | EFMHAT8E 7 8, 750 8,700 | A 0.6
WHZE ) 5—1 | =/k265% 23, 100 22,900 | A 0.9
WHEGR) 5 —2  |BHE1043% 24} 23,200 23,000 | A 0.9
e (1) — 1 ARA AR R HT IR 16082 2 9, 300 9,200 | A 1.1
i () — 2 TE)F2201 %20 8, 700 8,600 | A 1.1
i (1) —3 TEEEI9% - 3,300 | EEEE
i () — 4 BFE1008% 1 5,050 5,000 | A 1.0
i (J)  — 5 R4 1247 3 6, 900 6,800 | A 1.4
() —6 THR41344% 3 3,700 3,680 | A 0.5
i (1) 5 —1 MEJF2079% 7 13, 900 13,600 | A 2.2
i (J) 5 — 2 F7R41660% 2 10, 800 10,600 | A 1.9
ARG —1 B RRARTRF)IIAL147% 3 6, 200 6,050 | A 2.4
ARG —2 KF)NARA27% 15 14, 000 13,700 | A 2.1
ARG —3 KFRF351% 3 4+ 7,600 7,500 | A 1.3
FAUR)  —1 FABHT )R 6567 1 6, 000 5,900 | A 1.7




AN S HATG A

O B | BERORER B DI R | 5 | 8 R |
FEIHOR) —2 K277 % 9, 400 9,300 | A 1.1
EHI) —3 HEATI9% 1 3, 050 3,000 | A 1.6
FIHOR) —4 HEAR39TE 1 4+ 4,100 4,050 | A 1.2
EMUIR) 5 -1 FIAI1T75%10 14, 000 13,800 | A 1.4
B R —1 B TR ZE AR 147 3 4, 150 4,050 | A 2.4
B R —2 HEF2413% 1 5, 000 5, 000 0.0
B (R) —3 4037 1 3, 750 3, 700 1.3
B (R —4 HIA1944% 4, 150 4, 050 2.4
B (R) —5 T HIFT258% 8 5,100 5, 000 2.0
B (L) —6 % 13817%16 5, 250 5, 250 0.0
B (R —7 H &3220% 2 3, 450 3, 400 1.4
BR(R) 5 —1 T F3I554% 3 4, 950 4, 850 2.0
Erg () 5 — 2 HP1487 2 5, 650 5, 600 0.9
B (R)5—3 K FA27% 51 6, 750 6, 750 0.0
B (R 9—1 THT93% 1 4, 050 4,000 | A 1.2
EANE () — 1 |FERRNEMEHTSEH 8 FN 1 15, 700 15,300 | A 2.5
EEFNEF () — 2 |[hErg2E 24, 900 24,300 | A 2.4
AR (R — 3 |tRHRr507E 27, 900 27,400 | A 1.8
EFE () — 4 |BER9TAEAT 15, 100 14,900 | A 1.3
A (R —5 | HFET90%E 1 11, 900 11,800 | A 0.8
AAEF () — 6 |/E#5990% 2 4, 000 3,950 | A 1.3
AN () 5 — 1 |HAe17E S 29, 300 29,100 | A 0.7
A (F) 5 —2 | HJE226% 1 19, 300 19,100 | A 1.0
sHUR) —1 & A IR AA R ARE67E 6 9, 250 9,100 | A 1.6
HFHE) —2 T AR HHA223% 2 6, 450 6,300 | A 2.3
sHURE) —3 ANAT872% 12, 900 12,600 | A 2.3
HFHEU) —4 + H 6265 8, 500 8,300 | A 2.4
sHUR) —5 NI N2993 5 8, 750 8,600 | A 1.7
HEUR) 51 N HH785% 4t 17, 000 16,500 | A 2.9
wEUR) —1 BRI AR BT R £ 1123% 1 4% 8, 800 8,750 | A 0.6
Mt (R) —2 KFIRG1671% 4, 500 4,450 | A 1.1




AN S HATG A

O B | BERORER B DI R | 5 | 8 R |
(R —3 RFFRHE2047% 4 5, 000 5, 000 0.0
Mt (R) 5 —1 KRF4EFF6TH 18, 000 17,600 | A 2.2
RO —1 W BETRFEHETY #7475 1 14, 300 14,100 | A 1.4
v (R) —2 [ RFEMFRE99% 1 13, 300 13,000 | A 2.3
s —3 | RFHINFFELIH663 1 16, 800 16,400 | A 2.4
P (B 5 — 1 | RFHM I/ NEE 3513 1 28, 400 27,700 | A 2.5
mRUL) —1 HFRATTFAR Y 1E22747F 3, 900 3, 900 0.0
KR 5 —1 FHB1014% 2 8, 000 7,950 | A 0.6
Rz & (1) — 1 |BRisk oD B5HTHh & = 552 1 14, 400 14,300 | A 0.7
PRl D &5 (W) — 2| Injsa 2 2572 2 6, 100 6,000 | A 1.6
FRlk o B () — 3|5 110% 22, 300 22,000 | A 1.3
B D5 (V) — 4 |[fiili FIR213% 2 9, 750 9,500 | A 2.6
Rz D s (1) — 5| #E7 RANE2348% 7 5+ 11, 100 10,900 | A 1.8
R oD 5 (W) — 6|65 I 3063 1 8, 950 8,800 | A 1.7
Rk oo B (W) 5 — 1|9 E H B / IU28% 1 44, 300 42,500 | A 4.1




2  Hih

S e DFTAE e UM ﬁgﬁgﬁa@ 3 ﬁ%ﬁﬁﬁ g(%a)zf: BT 00 R
BIROK)  — 1 [T AT — R 10997 390, 000 380,000 | A 2.6 ﬁgiﬁéf’gm%
ARG —2 | BRI RS 00 R T A P32 12778 48, 000 47,000 | A 2.1 Iﬁ@i’%
BAROHK)  —3  [EHEHAET1I453% 6 590, 000 580,000 | A 1.7 ﬁgiﬁéf’gm%
BAR () —4  |[BERAEEETAA823% 28, 000 27,000 | A 3.6 ﬂuﬂéﬁii&%
BRGD)  — 5 [CZERRHERT ERF2602% 1 41 35, 000 34,000 | A 2.9 ﬂuﬂéﬁii&%
BARGHE)  —6 |4k H AT ST 543043841 28, 000 27,000 | A 3.6 ﬂuﬂéﬁii&%
BAR () — 7 [HEFHAL RETFA M5 828% 4 68, 000 66,000 | A 2.9 ﬁgiﬁéf’gm%
BARGK)  —8 | EMAKITH A %1991 72, 000 70,000 | A 2.8 %Hﬁﬂﬁﬂﬁ
BARGK)  — 9 [TLAHTR)IET K 6497 1 73, 000 71,000 | A 2.7 %Hﬁﬂﬁﬂﬁ
BAR (M) —10 | B ERART KT F3232% 1 28, 000 27,000 | A 3.6 %Hﬁﬂﬁﬂﬁ
ARG —11 |2kl R A 12010551 37, 000 36,000 | A 2.7 ﬂuﬂéﬁii&%
BAR ) —12 jgﬁﬂﬁﬂtﬁﬂmﬁ:ﬁﬂiﬁﬁﬁﬂ 2720% 52, 000 51000 | 4 12 ﬁﬁfﬁét’g;ﬂ%




